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Part One: Reading comprehension

Directions: Read the following passages carefully. Each Passage is followed by some questions. Complete
the questions with the most suitable words er phrases (a, b, c, or ﬂ}
Base your answers on the information given in the passage only.

Passage 1

Just a few years ago, scientists did not know phytochemicals existed. But today they are the
new frontier in cancer-prevention research. This pioncering science couldn’t have hit at a better
time. People are more confused than ever about the link belween diet and health : margarine is
heaithier than butter (or net); oat bran will save you (or won’t); a little alcohol will keep heart
attacks at bay (but give you breast cancer). Just the effects of the popular vitamins known as
antioxidants delivered a decidedly pessimistic massage. “We should have a moratorium on
unsubstantiated health claims for antiexidants and cancer,” says Dr. Julie Buring of Brigham
and Women's Hospital in Boston. Amid all the debate, phytochemicals offer the next great hope
for a magic pill, one that would go beyond vitamins.

96 — It can be inferred from the paragraph that the pioneering science (line 2) refers to the ............

a) discovery of vitamins

b) discovery of phytochemicals

c) link between diet and health

d) new knowledge about antioxidants

97 — The examples provided by the author in the third, fourth jand fifth lines show how people are

............ the association of diet and health. T
a) bored with
b) supportive of
c) neutral to
d) uncertain about
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98 . The writer states that the new discovery has ............ .

a) happened at the best possible time

b) made people confident in previous understanding
c) resulted in people’s trust in scientific findings

d) been the most influential in health

unverified claims.
a) newly discovered magic pills
b) phytochemicals
¢) antioxidants
d) margarine, oat bran and alcohol

100 — The underlined words (“one”) in the last sentence refers to .............
a) antioxidant pill b) hot debate ¢) phytochemical pill
Passage 2

countries is a new epidemic: the obesity.

regular meals.

101 . It is stated in the passage that infectious diseases ............

a) tend to be the most serious health problem

b) failed to be considered epidemic in the past

c) used to kill half of the population world-wide
d) are currently less health threatening than before

102 _ The second paragraph mainly discusses ............

a) the definition of obesity

b) the reasons why people turn to junk food

c¢) why people get overweight

d) how obesity is becoming a serious health problem

o[l F7OVKFPFL
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99 — Studying vitamins, scientists havce presented the health impacts of ............ as an example of

The most serious health problem in the world used to be infectious diseases such as
typhoid fever, influenza (flu), and plague. In the 14" century for example, an epidemic of
plague Kkilled roughly one-third of the population of Asia and about half of the population
of Europe. A flu epidemic in 1918 killed millions of people around the world. Today,
however, vaccines and antibiotics have prevented the spread of many serious diseases. In
fact, in many parts of the world today, infectious diseases are no longer considered to be
the most serious health problem. However, today the number-one health problem in most

Two major reasons may be conceived for ohesity. An obvious contributing factor is the
sedentary lifestyle that many people in the 21% century are leading; getting around by car and
working at a desk do not demand much physical activity, which is what people had to do to
survive in the past. Now, however, we have to artificially add it to our life. A second cause of the
obesity epidemic is an increase in the availability and consumption of junk food, defined as
“foods which provide calories primarily through fats or added sugars and have minimum
amounts of vitamins and minerals”. Studies have shown that people are consuming substantially
more calories daily than they used to, and they are consuming many of those calories outside of

@medical_sa
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103 — According to the passage, people in the 21 century are ............ to lead a healthy lifestyle.

a) advised to get around by car

b) required to do physical activity

c) practically engaged in doing exercise

d) recommended to underestimate physical activity

104 — According to the passage, ............ .

a) infectious diseases are the most threatening diseases today

b) obesity used to be prevalent in the 20" century

c) obesity is regarded as a significant health problem worldwide
d) fast foods contribute more to obesity than sedentary life

105 — A suitable title for the passage would be ............ .

a) A new epidemic and its causes

b) Modern lifestyle and diseases

c) Obesity: a problem in developed countries
d) Infections are more serious than expected

Passage 3

It is paradoxical that despite extensive advances in literacy and education as well as
vastly improved methods of communication, there stil!l exists a great gap between the
existing medical and health protective knowledge and the public’s acceptance and use of
it. Professional journals are replete with reports, surveys of school children, college
students and the adult public that present discouraging and embarrassing evidence of
failure in this field. Many parents, for instance, still do pot obtain immunization for their
children and many drivers still invite injury and death by drinking and driving, and not |
using belts. The use of cigarettes and patent medicinés is still widespread. One of the |
handicaps of public health work, of course, is the absence of pain and urgency.

106 — According to this passage, many of the articles published in Jicalth journals suggest ............

a) proper growth and development in public health

b) inadequate health education among the public

¢) morc dropouts of the school and college students
d) deterioration of lifestyle due to modern technology

107 — A factor hindering the success of public health is said to be ............ .

a) lack of interest in applying health education findings
b) -the occurrence and pfeva]ence of epidemics

¢) use of cigarettes and patent medicines

d) widespread injury and death all over the world
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108 — The writer believes that, in the field of health education, pain ............ .

C' medlcal sa a

a) must be eliminated immediately
b) is discouraging and embarrassing
c) has been inadequately considered
d) might be an enhancing factor

109 — The information given about the ignorance of parents and drivers ............

a) is an example of lack of good communication methods

b) supports the author’s view of the gap mentioned in the passage
¢) refers to the handicaps of public health workers

d) is considered the main cause of failure in health literacy

110 — The writer seems to ............

a) be critical of education policy

b) admire the extensive advances in education
¢) suggest some solutions to remove the gap
d) be indifferent towards public health

Passage 4

Population aging has been accompanied by an epidemiological shift in the leading causes of
death from infectious and acute conditions associated with childhood to chronic conditions. A
number of factors have been associated with this epidemiological transition: modernization and
urbanization (especially improvements in standards of living and education) better nutrition,
sanitation, health practices, and medical care.

A project made by WHO suggested that, by 2015, du:alhs from chronic diseases — such as
cancer, hypertension, cardiovascular discasc, and diabetes — would increase 17 percent, However,
few developing countries have implemented primary prevention programs to encourage those
healthy lifestyle choices that would mitigate chronic diseases or delay their onset. Rarely do
‘developing countrics have the appropriate medicines or adequate clinical care necessary to treat
these diseases.

To encourage a prevention approach, WHOQO launched in 2002 its innovative Care for Chronic
Conditions Framework, aimed at policymakers in the health sector. This framework takes the
approach that non-adhcrence to long-term treatment regimens is fundamentally the failure of
health systems to provide appropriate information, support, and ongoing surveillance to reduce
the burden of chronic discase. The framework also advises that a prevention approach can
mitigate these problems and contribute to healthier lifestyles. Delaying the onset of disability
through prevention approaches can both alleviate the growmg demand for health care and, more
lmportant improve the quality of life for the elderly.

111 — Acute conditions mentioned in the first paragraph ............ .

a)} used to be common in the past

b) have increased with urbanization

c) are as common as current chronic conditions
d) are still common throughout the world
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a) transitional approaches

b) mitigating infectious conditions
¢) implementing a new health system
d) ongoing clinical supervision

113 — The necessary step which should be taken by health policy makersis to ............ .

a} focus on both prevention and sustained treatment

b} alleviate the number of acute diseases

c) delay the onset of urban life-style

d) provide appropriate regimens and encourage urbanization

114 = According to the text, prevention can .....c.ienn

a) subject the person to numerous lifestyles

b) acccleratc the onset of long-term regimens

c) reduce the burden of acute diseases

d) decrease the burden on the healthcare providers

115 — Many developing countries ............ to reduce chronic diseases.

a) have recently taken the necessary measurcs
b) have failed to provide continuing surveillance
c) adhere to suitable lifestyle choices

d) follow the long-term treatment regimens

Part two: Vocabulary Questions:

Directions: Complete the following sentences by choosing the best answer.

116 . TV reporters ............ the truth about what had happerned in the university campus. They

presented a wrong picture of the event.
a) distorted b) applied c) confirmed d) reflected

117 — Insufficient foods along with ............ in protein, minerals and vitamins in the diet all affect

physical fitness and work capacity.
a) concentration b) incidence ¢} deficiencies d) indications

118 — Increased cholesterol levels in the blood can cause fatty ..... feveres , followed by the thickening of
the artery walls.

a) mincrals b) deposits ¢) nutrients d) substances
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119 — Drains should be ............ to carry away fluid which might act as a culture medium for
bacteria.
a) dispatched b) penetrated ¢) perforated d) inserted
120 — Lack of appetite ............ his rccovery from illness, so he was given a drug to stimulate his
appetite. ‘
a) hampered b) concealed ¢) promoted d) accelerated
121 — There are numerous instances indicating that lasers can successfully ............ a given clinical
task.
a) converse b) accomplish ¢) agitate : d) aggravate
122 — Lung cancer is a(n) ....c.o..... disease that comes on slowly and does not have obvious symptoms

at first. The person is not aware of its development.
a) msidious h) precious c) lucrative d) tentative

123 — The currently used vaccines are live strains ............ by several subcultures so as to reduce the

virulence of microbes. ' ‘
a) intoxicated b) evaporated c) aftenuated d) neutralized

124 — Monitoring of............ signs most commonly includes blood pressure, heart, pulse and

respiratory rates.
a) viral b) wvital ¢) fatal d) lethal

125 — After smallpox and cattle plague, polio seems to be the next disease around the world to be

successfully ............ by the joint efforts of WHO and UNICEF.
a) eradicated b) encouraged ¢) released d) sustained
126 — For such patients, work or exercise usually ...... heeaes the case and may cause congestion and

inflammation of important body organs.
a) evolves b) flourishes ¢) refines d) aggravates

127 — People suffering from malnutrition are ............ , lethargic, bored and depressed.
a) optimistic
b) listless
¢) enthusiastic
d) tranquil
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128 — In the case of acute inflammation, trauma and hemorrhage; the usage of superficial heat should

be ...oevnnnen. because of its contraindications.
a) elevated b) appreciated ¢) forbidden d) accelerated

129 — Having a kind and considerate behavior towards the employees is very important for a manager,

asitcan ............ feelings of love for the workplace.
a) eliminate b) alleviate c) purchase d) induce

130 —. Physical fitness means energetically performing daily tasks to the best of your ability without

getting ............ and worn out.
a) apprehensive b) disappointed ¢) exhausted d) anxious
131 — The hospital’s policies and rules are for the purpose of the ............ of patients’ safety.
a) enhancement b) competence c) adherence d) degeneration
132 — Damaged tooth enamel can allow the bacteria to more easily ............ the tooth and form a
cavity.
a) invest b} evade ¢) avoid d) invade
133 . If one of a person’s kidneysis ............ , the person can still live with the other kidney.
a) avoided b) removed ¢) operated d) transmitted
134 — A patient who is ............ for less than 24 hours is considiéred as an outpatient; his/her details
are registered, together with the names of the personnel,
a) immunized b) anesthetized ¢) hospitalized d) energized
135 — For skin injuries, patients are mostly advised to regularly ............ the prescribed ointments to
a wound.
a) drain b) apply c) inject d) swallow
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